Non-linear least squares
fitting two Gaussians
in Igor
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Read in the macro for two Gaussians
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#pragma rtGlobals=1 £f Uze modern global access method. -

Function g2peak{w, x)
Wawe w;, WVariable x

Variable al,al,z0,x1, zig0, sigl
Variable gl, g2

al = wl0]
x0 = wll]
zigh = wl[2]
al = w[3]
xl = wl4d]
zigl = w[E]
gl = (al)/ (=qrt (2. %3, 14168) *21g0) *ewp (- (x—=0) "2/ (2%=21g072))
g2 = (al)/ (=aqrt (2. %3, 141688 #zigl) *ewp (- (x—x1) "2/ (2%=1g172))
return gl+g?
End
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Select the macro in the Curve Fitting menu
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Make an Initial guess of fitting parameters
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Do it — Igor’s way of saying fit it
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